Honors Algebra 2
Ch 4 Review #2
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Solve the following equations and system of equations algebraicaily.
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Solve the following inequalities algebralcally and represent the solution on a number line and as

an algebraic statement.
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Solve the equations/inequalities by graphing.
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11) Use the graph at right to answer the following.

a. For what values of x is f(x) 2 -47 Show your solution
algebraically and on a number line.
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b. For what values of x is f(x) = 0? Show your solution

algebraically. X = - 4 ar A= ’

12) Perform the operations for the following rational
expressions. Be sure to simplify your answers as much as

possible.
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13) On Christmas Eve, Santa began his trip around the world and stopped at each house. When
he left from the Smith’s house in Bismarck, North Dakota Santa ascended 30 ft up and 200ft
horizontally to get to the next chimney. At the same time, The Smith’s children were trying to
catch Santa and let off a rocket from their chimney. The rocket reached a maximum height of 80
feet but only traveled 50 feet sideways. Did the rocket hit Santa and if so, at what distance from
the Smith’s chimney (horizontal distance)? Draw a picture to show this situation and leave your

“a” values as fractions.
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